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THE OPEN UNIVERSITY OF SRI LANKA

BACHELOR OF MANAGEMENT STUDIES DEGREE PROGRAMME - LEVEL 04
FINAL EXAMINATION — 2014

MCU 2207 - MACRO ECONOMICS

DURATION: THREE (03) HOURS

DATE: 22.02.2014 TIME: 9.30A.M- 12.30 P.M

Answer Part A and any three (03) questions from Part B.

01)

02)

b)

PART A

Using circular flow diagram explain how income is received and payments
are made by different sectors of the economy.
(05 Marks)

“Using appropriate policy mix, the government of a country plays a major role
in influencing the country’s economy”. Providing examples discuss the above
statement.

(20 Marks)

Details of a three sector economy are given below Figures in Rs. Billions.

C = 68 + by, (Consumption)

Marginal propensity to save (MPS) = 0. 2
I = 42 (Investments)

G = 58 (Government expenditure)

T = 10 (Autonomous Taxes)

Derive the savings function of this economy and explain the same using
illustration.

Find the equilibrium level of National Income.

Suppose in addition to autonomous taxes, the government introduces an
income tax of 10% and transfer payments of 5 billion (TR = 5), find the
equilibrium level of National Income.

Suppose the government opens the economy and following changes take place.

X = 54 (Exports)
M =56 + 0.1y (Imports)
Find the equilibrium level of National Income.

Calculate the expenditure, tax and transfer multipliers. (15 Marks)



03)

04)

05)

PARTB

Using IS/LM framework explains whether you “agree” or “disagree” with the
following statements.

a) Exparisionary monetary policies will increase the rate of interest in the
economy.

b) Increase in average price level in the economy will shift the LM curve to the
right.

c) In liquidity trap range monetary policies are highly effective.

d) When demand for money does not depend on rate of interest at all, fiscal

policies are highly effective.
e) The higher the expenditure multiplier, the more elastic is the IS curve.
(20 Marks)

“If inflation is caused by shifts in Aggregate Demand or Aggregate supply curves, it
can only persist if it is accommodated by an increase in the money supply” Do you
agree? Explain using economy of Sri Lanka as an example. (Use illustrations where
appropriate)

(20 Marks)

a) Using Phillips Curve explain the relationship between rate of change of
money wages and unemployment in the short run. :
(05 Marks)

b) Do you “agree” or “disagree” with the following statements. Explain your
answer. '

i) Even if the economy is running at or near full capacity, the
unemployment rate will never be zero.

i1) Demand management policies can be used to reduce cyclical
unemployment in the economy.

ii1) The official unemployment figure always reflects the true statues of
unemployment in the economy.

(15 Marks)



6)

-7

b)

b)

ii)

0015

Differentiate between “Economic Growth” and “Economic
Development”. _

What are the factors that contribute to Economic Growth of a country?
Explain.

(08 Marks)
What are the sources of Economic Development? Explain.

What are the strategies available for a country to achieve higher
Economic Development? Explain using examples.
(12 Marks)

What are the phases of Bsiness Cycle? Explain using illustrations.

“There is no unanimity among economists about the causes of Business
Cycles”. '

Explain how A.C. Pigu and Keynes differ in their explanation of causes of
Business Cycles.

(12 Marks)

Suppose the full employment level of output of an economy is Rs.1800 billion,
but the actual level of output is Rs.1500 billion.

)

ii)

If the government is to échieve the full employment level of output, by
how much the government should change its expenditure.

If this is to be achieved through the changes in taxes, by how much the
government should ?chahge taxes? What are the disadvantages of such
approach. ’ ‘

(Consider Marginal Propensity to Consume, (M.P.C) as 0.8)

(08 Marks)

-Rights Reserved-
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